0.5 . -

[ Raw ]

0.4F ——+—— POWHEG (CT10) + PYTHIA (Z2) with PDF uncertainties—]

- | Data with statistical 0 systematic error bars 3

0.3 E ¢ Data with statistical error bars _:

o 0.2F =

< oif S SN R

- & ? 3

= ~T  CMS 3

OF—— 3 - ]

s S5fotatVs=7TeV

0.1 ly] < 1.00 B

-0.2E . =

o 2f ' ]

S of *’/ﬁ\\""'\\,//’\\\///”\“‘-\\\ .

§ -2k L ]
- 50 60 70 100 200 300 400

M(u*W) [GeV]

0.5 = . =

0.4F { =

C — 1

0.3F '—{1—' =

m 0.2fF § =

L. - —F— 5

< o4 i =

o3 =~ CMS E

T P SfhlatVs=7TeV J

0.1 1.25<]y|<1.50 =

-0.2k : . . -

o 2f ' ]

= of 3
- 50 60 70 100 200 300 400

M(u*W) [GeV]

© ©
NS

AFB
o o ©
= N w

o

[ I
3 L oM E
LIS J 5fblatVs=7TeV
3 1.00<|y| <1.25 E

a-loc'D
N

(data - MC)/a,,,
N O DN

A%

50 60 70

1
100

200

300 400
M) [GeV]

© ©
RS

B
©c o
i N w
}I.:|IIII|IIII|IIII|IIII|IIII

AF
o
=

o

a.lolo
N

dat:

H

el

CMS
5fbtatys

=7 TeV
1.50 < |y| < 2.40

(data - MC)/o
N O N

\/~/\/

50 60 70

100

200

300 400
M) [GeV]



	Contents
	Page 1


